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; 100kN/M%#8%2 5| 1.00 | 0.00 ~ 224 154.86 |3mEBABHl — ~ — — — | 100kN/m%Z#Z 5| 1,00 | 1058 ~ 1928 134.86 |3mZi#BZ3 -~ — — —
ZznLs 1.00 | 224 ~ 1003 100.00 | FnLSN | 000 ~ 1003|243 12.28 ZzhnLs 1.00 | 5.00 ~ 1058 100.00 | =nLS | .00 ~ 1928 | 2.43 12.28
2 100kN/M%#BZ2 5| 1.00 | 0.00 ~ 234 136.54 |3mEBABH — ~ — — — | 100kN/m%Z#Z 5| 1,00 | 11.48 ~ 21.35| 136,64 |3mZE#BZ3 - ~ — — —
ZznLst 1.00 | 234 ~ 1013 100.00 | FnLSN | 000 ~ 1013|299 15.14 ZznLst 1.00 | 5.00 ~ 1148 100.00 | =0 | .00 ~ 21.35| 2.99 15.14
g 100kN/M%Z#BZ 5| 1.00 | 0.00 ~ 336 | 154.05 |3mEBZB| 000 ~ 0.78|8.47 17.56 | 100kN/mM#E#BZ% | 1.00 | 11.38 ~ 31.55| 154.05 |3mE#BZB| 25.00 ~ 3155 | 3.47 17.56
zhnLs 100|336 ~ 1115 100.00 | NS | 078 ~ 11.15| 3.00 15.16 zhnLis 1.00 | 5.00 ~ 11.38| 100.00 | ThLSY | 5.00 ~ 2500 | 3.00 15.16
4 100kN/M%Z#BZ5 | 1.00 | 0.00 ~ 395| 164.60 |3m%EBZB| 000 ~ 1.74|83.96 20.01 | 100kN/m##Z% | 1.00 | 11.11 ~ 4815 | 164.60 |3mEBZD| 25,00 ~ 4815 | 3.96 20.01
ZznLs 1.00 | 395 ~ 1174 100.00 | LS | 1.74 ~ 1174 8.00 16.16 ZznLst 1.00 | 5.00 ~ 1111 100.00 | =nS | .00 ~ 2500 | 3.00 16.16
N 100kN/M%Z#BZ 5| 1.00 | 0.00 ~ 396| 164.66 |3mEBZB| 000 ~ 168|390 19.73 | 100kN/mM##BZ% | 1.00 | 1092 ~ 4792 164.66 |3mEBZB| 25,00 ~ 4792 | 3.90 19.73
ZznLst 1.00 | 396 ~ 1174 100.00 | LS | 1.68 ~ 1174 8.00 16.16 ZznLst 1.00 | 5.00 ~ 10.92 100.00 | =nS | .00 ~ 2500 | 3.00 16.16
100kN/M%Z#8 % % ~ ImERBZD ~ 100kN/mZ#BZ % ~ ImERZS ~
Zhst ~ Zh s ~ Zhst ~ Zh s ~
100kN/M%Z#8 % % ~ ImERBZD ~ 100kN/mZ#BZ % ~ ImERZS ~
Zhst ~ Zh s ~ Zhst ~ Zh s ~
100kN/mMZ#8 % % ~ ImERBZD ~ 100kN/mMZ#BZ % ~ ImERZD ~
Zhst ~ Zh s ~ Zhst ~ Zh st ~
100kN/mM%Z#8 % % ~ ImERBZD ~ 100kN/mZ#BZ % ~ ImERZS ~
Zhst ~ Zh s ~ Zhst ~ Zh s ~
100kN/M%Z#8 % % ~ ImERBZD ~ 100kN/mZ#BZ % ~ ImERZS ~
Zhst ~ Zh s ~ Zhst ~ Zh s ~
100kN/M%Z#8 % % ~ ImERBZD ~ 100kN/mZ#BZ % ~ ImEBZS ~
Zhst ~ Zh s ~ Zhst ~ Zh s ~
100kN/M%Z#8 % % ~ ImERBZD ~ 100kN/mZ#BZ % ~ ImERZS ~
Zhst ~ Zh s ~ Zhst ~ Zh s ~
100kN/M%Z#8 % % ~ ImERBZD ~ 100kN/mZ#BZ % ~ ImEBZS ~
Zhst ~ Zh s ~ Zhst ~ Zh s ~
100kN/M%Z#8 % % ~ ImERBZD ~ 100kN/mZ#BZ % ~ ImEBZS ~
Zhst ~ Zh s ~ Zhst ~ Zh s ~
100kN/M%Z#8 % % ~ ImERBZD ~ 100kN/mZ#BZ % ~ ImEBZS ~
zh st ~ ZhLs ~ zh st ~ ZhLs ~
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